

T-stabilities of Mann Ishikawa Iterations and Multistep Iteration for Non expansive Mapping

D. P. Shukla*

Department of Mathematics & Comp. Sci. Govt. P.G. Science College Rewa-486001, (M.P.), India

(Received on: 08-05-13; Revised & Accepted on: 07-08-13)

ABSTRACT

We show that the T-stability of Mann, Ishikawa iterations are equivalent to the T-stability of a multistep iteration.

Mathematical Subject Classification: 47H10.

Keywords: Mann, Ishikawa, Noor and Multistep iterations; T-stability.

1. INTRODUCTION AND PRELIMINARIES

Let E be a Banach space, K a nonempty, convex subset of E, and T a self map of K. Three most popular iteration procedures for obtaining fixed points of T, if they exist, are Mann iteration [1], defined by

$$u_1 \in K, u_{n+1} = (1-\alpha_n)u_n + \alpha_n Tu_n, n \geq 1, \quad (1.1)$$

Ishikawa iteration [2], defined by

$$\begin{aligned} z_1 \in K, z_{n+1} &= (1-\alpha_n)z_n + \alpha_n Ty_n, \\ y_n &= (1-\beta_n)z_n + \beta_n Tz_n, n \geq 1, \end{aligned} \quad (1.2)$$

Noor iteration [10], defined by

$$\begin{aligned} v_1 \in K, v_{n+1} &= (1-\alpha_n)v_n + \alpha_n Tw_n, \\ w_n &= (1-\beta_n)v_n + \beta_n Tt_n, \\ t_n &= (1-\gamma_n)v_n + \gamma_n Tv_n, n \geq 1, \end{aligned} \quad (1.3)$$

for certain choices of $\{\alpha_n\}, \{\beta_n\}$ and $\{\gamma_n\} \subset [0,1]$.

The multistep iteration [9], arbitrary fixed order $p \geq 2$, defined by

$$\begin{aligned} x_{n+1} &= (1-\alpha_n)x_n + \alpha_n Ty'_n, \\ y'_n &= (1-\beta'_n)x_n + \beta'_n Ty_n^{i+1}, i = 1, 2, \dots, p-2 \\ y_n^{p-1} &= (1-\beta_n^{p-1})x_n + \beta_n^{p-1} Tx_n, \end{aligned} \quad (1.4)$$

where the sequence $\{\alpha_n\}$ is such that for all $n \in \mathbb{N}$

$$\{\alpha_n\} \subset (0, 1) \lim_{n \rightarrow \infty} \alpha_n = 0, \sum_{n=1}^{\infty} \alpha_n = \infty \quad (1.5)$$

Corresponding author: D. P. Shukla*

Department of Mathematics & Comp. Sci. Govt. P.G. Science College Rewa-486001(M.P.), India

and for all $n \in \mathbb{N}$

$$\{\beta_n^i\} \subset [0, 1), 1 \leq i \leq p-1, \lim_{n \rightarrow \infty} \beta_n^1 = 0. \quad (1.6)$$

In the above taking $p = 3$ in (1.4) we obtain iteration (1.3). Taking $p = 2$ in (1.4) we obtain iteration (1.2).

Let K be a closed convex bounded subset of normed linear space $E = (E, \|\cdot\|)$ and T self-mappings of E . Then T is called nonexpansive on K if

$$\|Tx - Ty\| \leq \|x - y\| \quad (1.7)$$

for all $x, y \in K$. Let $F(T) := \{x \in K : Tx = x\}$ be denoted as the set of fixed points of a mapping T .

Let X be a normed space and T a nonexpansive selfmap of X . Let x_0 be a point of X , and assume that $x_{n+1} = f(T, x_n)$ is an iteration procedure, involving T , which yields a sequence $\{x_n\}$ of point from X . Suppose $\{x_n\}$ converges to some $x^* \in F(T) := \{x \in K : Tx = x\} \neq \emptyset$. Let $\{\xi_n\}$ be an arbitrary sequence in X , and we consider $\Omega_n = \|\xi_{n+1} - f(T, \xi_n)\|$ for $n = 1, 2, 3, \dots$

Definition 1.1: [3] If $((\lim_{n \rightarrow \infty} \Omega_n = 0) \Rightarrow (\lim_{n \rightarrow \infty} \xi_n = P))$ then the iteration procedure $x_{n+1} = f(T, x_n)$ is said to be T -stable with respect to T .

Remark 1.2: [3] In practice, such a sequence $\{\xi_n\}$ could arise in the following way. Let x_0 be a point in X . Set $x_{n+1} = f(T, x_n)$. Let $\xi_0 = x_0$. Now $x_1 = f(T, x_0)$. Because of rounding or discretization in the function T , a new value ξ_1 approximately equal to x_1 might be obtained instead of the true value of $f(T, x_0)$. Then to approximate ξ_2 , the value $f(T, \xi_1)$ is computed to yields ξ_2 , an approximation of $f(T, \xi_1)$. This computation is continued to obtain $\{\xi_n\}$ an approximate sequence of $\{x_n\}$.

A reasonable conjecture is that the Ishikawa iteration and the corresponding Mann iteration are equivalent for all maps for which either method provides convergence to a fixed point. In an attempt to verify this conjecture the authors, in a series of papers [4-9] have shown the equivalence for several classes of maps.

In [11], Rhoades and Soltuz considered the equivalence between T -stabilities of (1.1) and (1.2). More precisely, they proved the following theorem.

Theorem (Rhoades and Soltuz[11]): Let X be a normed space and $T: X \rightarrow X$ a map. Then the following are equivalent:

- (i) for all $\{\alpha_n\} \subset (0, 1)$, $\{\beta_n\} \subset [0, 1)$ satisfying (1.5) and (1.6), the Ishikawa iteration (1.2) is T -stable,
- (ii) for all $\{\alpha_n\} \subset (0, 1)$, satisfying (1.5), the Mann iteration (1.1) is T -stable.

In this paper, we shall prove the equivalence between T -stabilities of (1.4) and (1.2). Consequently, we shall prove the equivalence between T -stabilities of (1.4) and (1.1). Throughout this paper, we shall assume that both Mann, Ishikawa and multistep iterations converge to a fixed point of T .

2. THE T -STABILITIES

Let $\{u_n\}$ be the Mann iteration, $\{z_n\}$ be the Ishikawa iteration and $\{x_n\}$ be the Multistep iteration. Let $\{x_n\}$, $\{z_n\}$ and $\{u_n\} \subset X$ be such that $x_0 = z_0 = u_0$ and let $(\alpha_n)_n \subset (0, 1)$, $(\beta_n)_n \subset [0, 1)$ and $(\beta_n^i)_n \subset [0, 1)$ satisfy (1.5) and (1.6), and

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T y_n^i,$$

$$y_n^i = (1 - \beta_n^i)x_n + \beta_n^i T y_n^{i+1}, i = 1, 2, \dots, p-2 \quad (2.1)$$

$$y_n^{p-1} = (1 - \beta_n^{p-1})x_n + \beta_n^{p-1} T x_n.$$

We consider the following nonnegative sequences, for all $n \in \mathbb{N}$:

$$\epsilon_n = \|x_{n+1} - ((1 - \alpha_n)x_n + \alpha_n T y_n^i)\|, \quad (2.2)$$

$$\delta_n = \|z_{n+1} - ((1 - \alpha_n)z_n + \alpha_n T y_n^i)\|, \quad (2.3)$$

$$\gamma_n = \|u_{n+1} - ((1 - \alpha_n)u_n + \alpha_n T u_n)\| \quad (2.4)$$

Definition 2.1: Definition 1.1 for (2.2), (2.3) and (2.4) gives:

- (i) If $\lim_{n \rightarrow \infty} \epsilon_n = 0$ implies that $\lim_{n \rightarrow \infty} x_n = x^*$, then the Multistep iteration (1.4), is said to be T -stable.
- (ii) If $\lim_{n \rightarrow \infty} \delta_n = 0$ implies that $\lim_{n \rightarrow \infty} z_n = x^*$ then the Ishikawa iteration (1.2) is said to be T -stable.
- (iii) If $\lim_{n \rightarrow \infty} \lambda_n = 0$ implies that $\lim_{n \rightarrow \infty} u_n = x^*$ then the Mann iteration (1.1) is said to be T -stable.

Remark 2.2: Let X be a normed space and T: X → X a nonexpansive map. The following are equivalent:

- (i) for all $\{\alpha_n\} \subset (0,1)$, $\{\beta_n\} \subset [0,1)$ and $\{\beta_n^i\} \subset [0,1)$ satisfying (1.5) and (1.6), the Multistep iteration is T -stable,
- (i*) for all $\{\alpha_n\} \subset (0,1)$, $\{\beta_n\} \subset [0,1)$ and $\{\beta_n^i\} \subset [0,1)$ satisfying (1.5) and (1.6), $\forall \{x_n\} \subset X$:

$$\lim_{n \rightarrow \infty} \epsilon_n = \lim_{n \rightarrow \infty} \|x_{n+1} - ((1 - \alpha_n) x_n + \alpha_n T y_n^i)\| = 0 \Rightarrow \lim_{n \rightarrow \infty} x_n = x^*, \quad (2.5)$$

Remark 2.3: Let X be a normed space and T: X → X a nonexpansive map. The following are equivalent:

- (ii) for all $\{\alpha_n\} \subset (0,1)$, $\{\beta_n\} \subset [0,1)$ satisfying (1.5) and (1.6), the Ishikawa iteration is T -stable,
- (ii*) for all $\{\alpha_n\} \subset (0,1)$, $\{\beta_n\} \subset [0,1)$ satisfying (1.5) and (1.6), $\forall \{z_n\} \subset X$:

$$\lim_{n \rightarrow \infty} \delta_n = \lim_{n \rightarrow \infty} \|z_{n+1} - ((1 - \alpha_n) z_n + \alpha_n T y_n)\| = 0 \Rightarrow \lim_{n \rightarrow \infty} z_n = x^*, \quad (2.6)$$

Remark 2.4: Let X be a normed space and T: X → X a nonexpansive map. The following are equivalent:

- (iii) for all $\{\alpha_n\} \subset (0,1)$ satisfying (1.5), the Mann iteration is T -stable,
- (iii*) for all $\{\alpha_n\} \subset (0,1)$ satisfying (1.5), $\forall \{u_n\} \subset X$:

$$\lim_{n \rightarrow \infty} \gamma_n = \lim_{n \rightarrow \infty} \|u_{n+1} - ((1 - \alpha_n) u_n + \alpha_n T u_n)\| = 0 \Rightarrow \lim_{n \rightarrow \infty} u_n = x^*, \quad (2.7)$$

Theorem 2.5: Let X be a normed space and T: X → X a nonexpansive map. Then the following are equivalent:

- (i) for all $\{\alpha_n\} \subset (0,1)$, $\{\beta_n\} \subset [0,1)$ and $\{\beta_n^i\} \subset [0,1)$ satisfying (1.5) and (1.6), the Multistep iteration is T -stable,
- (ii) for all $\{\alpha_n\} \subset (0,1)$, $\{\beta_n\} \subset [0,1)$ satisfying (1.5) and (1.6), the Ishikawa iteration is T -stable,
- (iii) for all $\{\alpha_n\} \subset (0,1)$ satisfying (1.5), the Mann iteration is T -stable.

Proof: Let $\lim_{n \rightarrow \infty} x_n = x^*$. Since the Mann, Ishikawa and multistep iterations converge, $M < \infty$. Remarks 2.2, 2.3 and 2.4 assure that (i) \Leftrightarrow (ii) \Leftrightarrow (iii) is equivalent to (i*) \Leftrightarrow (ii*) \Leftrightarrow (iii*). (ii*) \Rightarrow (iii*) proved in [11]. We shall prove that (i*) \Leftrightarrow (ii*). Therefore, we shall prove that (i*) \Leftrightarrow (ii*) \Leftrightarrow (iii*).

We prove (i*) \Rightarrow (ii*). The proof is complete if we consider

$$\begin{aligned} 0 &\leq \|\delta_n\| = \|z_{n+1} - ((1 - \alpha_n) z_n + \alpha_n T y_n)\| \\ &\leq \|z_{n+1} - x^*\| + \|((1 - \alpha_n) z_n + \alpha_n T y_n) - x^*\| \\ &\leq \|z_{n+1} - x^*\| + (1 - \alpha_n) \|z_n - x^*\| + \alpha_n \|((1 - \beta_n) (z_n - x^*) + \beta_n (z_n - x^*))\| \\ &\leq \|z_{n+1} - x^*\| + (1 - \alpha_n) \|z_n - x^*\| + \alpha_n \|((1 - \beta_n) (z_n - x^*) + \alpha_n \beta_n \|z_n - x^*\|) \\ &= \|z_{n+1} - x^*\| + \|z_n - x^*\| \rightarrow 0 \text{ as } n \rightarrow \infty. \end{aligned} \quad (2.8)$$

Thus, for a $\{z_n\}$ satisfying $\lim_{n \rightarrow \infty} \delta_n = \lim_{n \rightarrow \infty} \|z_{n+1} - ((1 - \alpha_n) z_n + \alpha_n T y_n)\| = 0$, we have shown that $\lim_{n \rightarrow \infty} z_n = x^*$.

Conversely, we prove (ii*) \Rightarrow (i*). The proof is complete if we consider

$$0 \leq \epsilon_n = \|x_{n+1} - ((1 - \alpha_n) x_n + \alpha_n T y_n^i)\|$$

$$\begin{aligned}
 &\leq \|x_{n+1} - x^*\| + \|x^* - (1 - \alpha_n)x_n + \alpha_n T y_n^i\| \\
 &\leq \|x_{n+1} - x^*\| + (1 - \alpha_n) \|x_n - f\| + \alpha_n \|(1 - \beta_n^i)x_n + \beta_n^i T y_n^2 - f\| \\
 &\leq \|x_{n+1} - x^*\| + (1 - \alpha_n) \|x_n - f\| + \alpha_n \|(1 - \beta_n^i)(x_n - f) + \beta_n^i [P(1 - \beta_n^2)x_n + \beta_n^2 T x_n - f]\| \\
 &\leq \|x_{n+1} - x^*\| + (1 - \alpha_n) \|x_n - f\| + \alpha_n \|(1 - \beta_n^i)(x_n - f) + \beta_n^i [(1 - \beta_n^2)x_n + \beta_n^2 T x_n - f]\| \\
 &\leq \|x_{n+1} - x^*\| + (1 - \alpha_n) \|x_n - f\| + \alpha_n (1 - \beta_n^i) \|x_n - f\| + \alpha_n \beta_n^i \|(1 - \beta_n^2)x_n + \beta_n^2 T x_n - f\| \\
 &\leq \|x_{n+1} - x^*\| + (1 - \alpha_n) \|x_n - f\| + \alpha_n (1 - \beta_n^i) \|x_n - f\| + \alpha_n \beta_n^i \|(1 - \beta_n^2)(x_n - f) + \beta_n^2 (x_n - f)\| \\
 &\leq \|x_{n+1} - x^*\| + (1 - \alpha_n) \|x_n - f\| + \alpha_n (1 - \beta_n^i) \|x_n - f\| + \alpha_n \beta_n^i \|(1 - \beta_n^2)\| \|x_n - f\| + \alpha_n \beta_n^i \beta_n^2 \|x_n - f\| \\
 &= \|x_{n+1} - x^*\| + \|x_n - f\| \rightarrow 0 \text{ as } n \rightarrow \infty.
 \end{aligned} \tag{2.9}$$

Thus, for a $\{x_n\}$ satisfying $\lim_{n \rightarrow \infty} \|x_{n+1} - ((1 - \alpha_n)x_n + \alpha_n T y_n^i)\| = 0$, we have shown that $\lim_{n \rightarrow \infty} x_n = x^*$. Then this complete the proof of Theorem 2.5.

Set in (1.1), (1.2) and (1.4), $T := T^n$ to obtain the modified Mann, modified Ishikawa and modified multistep iterations. We suppose that both modified Mann and modified Ishikawa also modified multistep iterations converge to a fixed point of T . Note that Definition 2.1, Remarks 2.2 and 2.3, and Theorem 2.5 hold in this case too.

Corollary 2.6: Let X be a normed space and $T: X \rightarrow X$ a nonexpansive map. The following are equivalent:

- (i) for all $\{\alpha_n\} \subset (0,1)$, $\{\beta_n\} \subset [0,1)$ and $\{\beta_n^i\} \subset [0,1)$ satisfying (1.5) and (1.6), the modified Multistep iteration is T -stable,
- (ii) for all $\{\alpha_n\} \subset (0,1)$, $\{\beta_n\} \subset [0,1)$ satisfying (1.5) and (1.6), the modified Ishikawa iteration is T -stable,
- (iii) all $\{\alpha_n\} \subset (0,1)$ satisfying (1.5), the Mann modified iteration is T -stable.

REFERENCES

- [1] W.R. Mann, "Mean value in Iteration", Proc. Amer. Mat. Soc. 4 (1953) 506-510.
- [2] S. Ishikawa, "Fixed points by a new iteration method", Proc. Amer. Math. Soc. 44 (1974) 147-150.
- [3] A.M. Harder, T. Hicks, "Stability results for fixed point iteration procedures", Math. Japonica 33 (1988) 693-706.
- [4] B.E. Rhoades, S.M. Soltuz, "On the equivalence of Mann and Ishikawa iteration methods", Internal. J. Math. Math. Sci. 2003 (2003) 451-459.
- [5] B.E. Rhoades, S.M. Soltuz, "The equivalence of Mann iteration and Ishikawa iteration for non-Lipschitzian operators", Internat. J. Math. Math. Sci. 2003 (2003) 2645-2652.
- [6] B.E. Rhoades, S.M. Soltuz, "The equivalence of Mann and Ishikawa iteration for ψ -uniformly pseudocontractive or ψ -uniformly accretive maps", Internal. J. Math. Math. Sci. 46 (2004) 2443-2452.
- [7] B.E. Rhoades, S.M. Soltuz, "The equivalence of Mann and Ishikawa iteration for a Lipschitzian ψ -uniformly pseudocontractive and ψ -uniformly accretive maps", Tamkang J. Math. 35 (2004) 235-245.
- [8] B.E. Rhoades, S.M. Soltuz, "The equivalence between the convergences of Ishikawa and Mann iterations for asymptotically nonexpansive in the intermediate sense and strongly successively pseudocontractive maps", J. Math. Anal. Appl. 289 (2004) 266-278.
- [9] B.E. Rhoades, S.M. Soltuz, "The equivalence between Mann-Ishikawa iteration and the multistep iteration", Nonlinear Anal. 58 (2004) 219-228.
- [10] M. A. Noor, "New approximation schemes for general variational inequalities", J. Math. Anal. Appl. 251(2000) 217-229
- [11] R.E. Rhoades, S.M. Soltuz, "The equivalence between the T-stabilities of Mann and Ishikawa iterations", J. Math. Anal. Appl. 318 (2006) 472-475.

Source of support: Nil, Conflict of interest: None Declared